Percentage Worksheet

Solve.

34% of what number is 817

53% of what number is 1457

23% of what number is 97

96% of what number is 1447

60% of what number is 277

78% of what number is 1007

97% of what number is 1177
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Percentage Worksheet

Solve.

34% of what number is 817
The number is 27.54

53% of what number is 1457
The number is 76.85

23% of what number is 97
The number is 2.07

96% of what number is 1447
The number is 138.24

60% of what number is 277
The number is 16.2

78% of what number is 1007
The numberis 78

97% of what number is 1177
The number is 113.49
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